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And the snake; these are 237y _ oaTym YN v lwmam

Overview

The mwn mentions various wild animals, including a snake, that are
considered 0>7v11 (and they pay a 7w p1i the first time they damage). It may
seem (as others maintain®) that these animals are liable for any damage they
do (and wherever they do it). Mmoo, however restricts their liability.

— TAMNT 192 AN Y5 NIN D791 22PUN P10 132y Y92 INY
Not by all types of damages are these wild animals considered 2372, but
rather each one is considered a 7v1», only if he damages in the manner he

is accustomed to - . ,
— M31Y 990 X ‘D97 2N P99 ANt NaY 19

For instance, if a wolf came and was 1w, a lion came and was 297 or the

lion was 7357 f=W. In all these instances they are considered 0>y for it is RN -
—YIATIN INTT DYPITN ANY 19) YINY JI0Y SN P DINMN INDT 37913 YaN

However if the animals damaged in an unusual manner; for instance if a
lion was ¥28Y fw (like a wolf), and similarly other damages which are

unusual for this animal to do, then -
— D13 581 DNYYN NIN 019N 1A XY

They are not 2°7», but rather they pay (only) a 3"n.

mooIn qualifies the previous ruling:
— PN AENA NPT N BHY P DHYNT ININIINT »79122)

And concerning damaging in their usual manner, where they pay a "3,

that is only if the damage was done P27 9212 -
— 0390 MY YW MHNT MV D390 MYH1 YaN

However, if the damage was done 9''7192 they are =, for it is considered
9''5792 W (since it was done 371MR) which is WD,

mooIN supports this view: .
— 09 YIN) D97 02290 MYAID SIN NI INMY 9INT

As 9xw stated in the X7%3; a lion who was %581 77 in the 1"77 is Mws.’

" The marginal gloss indicates that this 90 is referencing the 73wn on 2,10.

2 See ""IX"D 1A Pt D a"ann.

? See the X713 on "2 Ty, The term 77v refers to an animal killing its prey (first) and then eating it. This is
the manner in which a 2Rkt (wolf) hunts.

* 917 refers to an animal that eats its prey while it is still alive. This is the custom of an *x (a lion). It is also
the custom of the > to 1°17% 77w; kill its prey in order to store it in its den (for its cubs, etc.).

> Presumably they will become a 79 after three times.

619 Ty pb.

" However if he was 7"7372 %381 770 (which is not 7°117X) he is 217 (a 1" for it is 7"772 17P). See [2"v] w0
»n .
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Mmoo anticipates a difficulty concerning this rule that 7"772 they are 7°r7IR2 70D for it is
"N W
— (4,0 97 DIYNT NNDP 7993 13999NTI 1NIPWIN N3N PRY YNI 129N

And this ruling applies even by a snake that has no benefit from his bite®,

as the X3 states in the first P2 of ns1yn noon -
— 19 W5 NN NN 1Y MAMINY WNIN YSX N1PND Y2 18apmY

That all the animals gathered around the snake and say to him what

benefit do you have from your biting. This concludes the X in n°avn. The
anticipated question is since the wni does not have 1p°117% nX17, why should it be W»
2"792; it is not Jw?!

mooin replies that indeed it may not be v -
— ©%290 MY VDY 39 9195 N 2513 NINIINT 1190 OIPN DN

Nevertheless since this is its customary manner to bite, this damage is
considered as ®31 (where there is also no 7p°11% 7X17) and is therefore =D
9''7ea.

Mmoo anticipates one additional difficulty in this issue and resolves it:
$999NN 2) NOY YNNI 79TNT 1199197 59 HY N TYINT 9N 19 13 M1 XD

And the snake is not considered as 39 after it becomes a T¥», even
though it intends to damage; since the 71w» mentions the snake together

with the other wild animals. One would think that since the w1 has no 7p*7% 7837 and
it is por7> 1nn,” it should be like a 177 which is a 71,'® and be 271 a w"1 in the "7
mooIn rejects this notion, and proves that it is not so, since the 7Iw» mentions Wna
together with the other 0°p>1, this proves that just as the others are 7"772 79, the same
applies to wm."!

Summary
All the N7 are 217 a w"1 in the P17 MW if they damaged 17178, and are

9"77192 Mo, If they damaged 17°°17IRD X2 they are 21 a 1'7.

Thinking it over
According to moon the 2°1°7 of Nn are the same as N, Is there any
reason why the mwn singles out these wild animals?'?

¥ A snake merely bites a person and kills him even though he does not eat him. See >"@1 there 721 1"7.

® This distinguishes it from 531, which is P17 1013 P, and makes it similar to 777,

' The biting of a w1 should be considered a 7y even the first time, since it is *>72 PAMK.

" mpoin does not explain why a w1 is not considered j7p. See 1'"111 who explains that the 773 of 77p is that
this 1721 is A1wn from all other M»i2. Therefore the 77N is lenient until it becomes a Ty, All own,
however, are initially conditioned to bite; it is 17»1R; therefore it cannot be considered 17p, but rather 31.
vy,

2 See 'm nx 7"210.
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